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EE-3221-11 - Dr. Durant - Quiz 4
Winter 2017-‘18, Week 4

1. (2 point) Draw a stem plot sketch of x(n) = 38(n + 2) for a reasonable range of n values.

2. (3 points) Indicate whether each of the following systems is linear, time-invariant, and causal.

You do not need to show your work for this problem.

yi(n) = 3x(n) + 2x(n-4)

y2(n) = In(x(n+1))

y3(n) = nx?(n-2)
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3. (3 points) Calculate the first 4 samples of the unit step response of y(n) =
(2/3)y(n=1) + 2 x(n) - x(n—1). Recall that the impulse response is y(n) when x(n) = u(n).

4. (2 points) Re-write the equation in standard form and then indicate the name of each

coefficient (a,, etc.).
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EE-3221-41 - Dr. Durant - Quiz 4
Winter 2017-‘18, Week 4

1. (2 point) Draw a stem plot sketch of x(n) = 4u(n — 1) for a reasonable range of n values.

2. (3 points) Indicate whether each of the following systems is linear, time-invariant, and causal.

You do not need to show your work for this problem.

y1(n) = x(n-3) + 2x(n-4) y2(n) = nx*(n+2) y3(n) = cos(x(n-1))
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3/{. (3 points) Calculate the first 4 samples of the unit impulse response of y(n) =
4y(n-1) - 3x(n) +2x(n—1). Recall that the impulse response is y(n) when x(n) = 8(n).

LJ/Z (2 points) Re-write the equation in standard form and then indicate the name of each
coefficient (as, etc.).
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